ICNS 100 Homework 1

Problem 2.5
6. a. f10)=0./12)=1.f(3)=3.f14) =2

b. Domain: all x such that0 < x < 4
c. Range:allysuchthat0 = y = 3
d. fix)=0forx=0.So areal zerois 0.

10, v=3-2x
3
Ify=0,then0=3 - 2x, .¥=E.

Fa

3 )
If v =0, then, v = 3. Intercepts: | E ] | i0, 3)

h

v is a fonction of x. One-to-one.
Domain: all real numbers
Range: all real numbers

14. y=4x°-16

Ify=0.then 0=4x* —16=4(x" —4) .
O=4{x+2)(x—-2) , x=%2.

If x =0, then v = -16.

Intercepts: (£2, 0), (0, -16)

v 1z a function of x. Not one-to-one.

Diomain: all real nambers
Range: all real numbers = —-16
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1
If Firy=0, then 0= —— , which has no solution.
P

Becanse r 2 0, there 15 no vertical-axis
intercept. Intercept: none.
Diomain: all real numbers = 0

Range: all real numbers = 0
Fir)

32. V=Hl[rf]=|rf—3|
If v = 0, then D=|h’—3|. u—3=10, sou=23.
If u =0, then V=|—3|=3.

Intercepts: (3. 0), (0, 3).
Domain: all real numbers
Range: all real numbers = 0

36. Domain: all real nmmbers = -1
Range: all real numbers = 11
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40. From the horizontal line test, the graphs which
represent one-to-one fonctions of x are (c) and

(d).



